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PART 1 THE FUNDAMENTAL ECONOMIC PROBLEM 1

PART 1 THE FUNDAMENTAL
ECONOMIC PROBLEM

CHAPTER 1 SCARCITY AND CHOICE

Our necessities are few but our wants are endless.

Inscription found in a fortune cookie.

The market' —what it does well, and what it does badly—is the central
issue of this book. But before we delve into” this complex subject, we must
first ask: What is the basic task that economists expect the market to
carry out?

The answer most frequently given is that the market resolves the
fundamental problem of the economy: the fact that all decisions are
constrained by the scarcity of available resources. A science-fiction writer can
depict a world in which everyone travels about in a petroleum-powered yacht,
but the earth almost certainly lacks the resources needed to make that dream
come true. The scarcity of resources, both natural and man-made, makes it
vital that we stretch our limited resources as far as possible. Even
millionaires, monarchs, and wealthy nations constantly find themselves
frustrated by the fact that their purchasing power, labor, and natural
resources are insufficient to let them do everything they would like. Like
everyone, they must constantly make hard choices.

Because of scarcity, every economic decision involves a trade-
off’. Should you use that $5 bill to buy a hoagie or some new diskettes for
your computer files? Should Chrysler Corporation invest more money in
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assembly lines or in research on auto design and fuel efficiency? The key role
of the market is to facilitate and guide such decisions, assigning each hour of
labor and each kilowatt-hour of electricity to the task where, if is hoped, the
input will serve the public most effectively. Scarcity, then, is the fundamental
fact with which the market (or the central planner) must grapple.

This chapter introduces a way to analyze the limited choices available to
any decision maker. The same sort of analysis, based on the concept of
opportunity cost, will be shown to apply to the decisions of business firms,
governments, and society as a whole. Many of the most basic ideas of
economics—such as efficiency , division of labor, exchange, and the role of
markets—are introduced here for the first time. These concepts are useful in
analyzing the unpleasant choices forced upon us by scarcity.

SCARCITY, CHOICE, AND OPPORTUNITY COST

One of the basic themes of economics is that the resources of decision
makers, no matter how large are always limited, and as a result everyone has
to make some hard decisions. The U. S. government has been agonizing over
difficult budget decisions for years, though it spends more than a trillion and a
half dollars annually! Even Philip II, of Spanish Armada fame and ruler of
one of the greatest empires in history, had to cope with frequent rebellions by
his troops because he was often unable to pay or supply them with even the
most basic provisions.

RESOURCES are the instruments provided by nature or by people that are
used to create goods and services. Natural resources include minerals, the soil ,
water, and air. Labor is a scarce resource partly because of time limitations
(the day has only24 hours) , and partly because the number of skilled workers
is limited. Factories and machines are resources made by people. These three
types of resources are often referred to as land, labor, and capital. They are
also called inputs or factors of production.

But far more fundamental than the scarcity of funds is the scarcity of
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physical resources*. The supply of fuel, for example, is not limitless, and
some environmentalists claim that we should now be making some- hard
choices, such as keeping our homes cooler in winter and warmer in summer,
living closer to our jobs, or giving up such fuel—using conveniences as
dishwashers. While energy is the most widely discussed .scarcity these days,
the general principle of scarcity applies to all of the earth’s resources—iron,
copper, uranium, and so on. ‘

Even goods that can be produced are in limited supply because their
production requires fuel, labor, and other scarce resources. Wheat and rice
can be grown, but nations have nonetheless suffered famines because the
land, labor, fertilizer, and water needed to grow these crops were
unavailable. We can increase our output of cars, but the increased use of
labor, steel, and fuel in auto production will mean that something else,
perhaps the production of refrigerators, must be cut back. This all adds up to
the following fundamental principle of economics, one we will encounter
again and again in this text.

Virtually all resources are scarce, meaning that humanity has less of
them than we would like’. Therefore, choices must be made among a limited
set of possibilities, in full recognition of the inescapable fact that a decision
to have more of one thing means that we will have less of something else.

In fact, one popular definition of economics is that it is the study of how
best to use limited means in the pursuit of unlimited ends. While this
definition, like any short statement, cannot possibly cover the sweep of the
entire discipline, it does convey the flavor of the type of problem that is the
economist’s stock in trade.

To illustrate the true cost of an input use, consider the production of
additional cars, which requires the production of fewer refrigerators. While
the production of a car may cost $ 15 000 per vehicle, or some other money
amount, its real cost to society is the refrigerators that society must forgo to
get an additional car. If the labor, steel, and fuel needed to make a car are
sufficient to make 12 refrigerators, we say that the opportunity cost of a car is
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12 refrigerators. The principle of opportunity cost is so important that we spend
most of this chapter elaborating it.

THE PRINCIPLE OF OPPORTUNITY COST

Economics examines the options available to households, business firms,
governments, and entire societies given the limited resources at their
command, and it studies the logic of how rational decisions can be made from
among the competing alternatives. With limited resources, a decision to have
more of something is simultaneously a decision to have less of something
else. Hence, the relevant cost of any decision is its opportunity cost—the
value of the next best alternative that the decision forces one to give
up. Rational decision making, be it in industry, government, or
households, must be based on opportunity cost calculations.

A RATIONAL DECISION is one that best serves the objectives of the
decision maker , whatever those objectives may be. Such objectives may include a
firm’s desire to maximize its profits, a government’s desire to maximize the
welfare of its citizens, or another government’s desire to maximize its military
might. The term rational connotes neither approval nor disapproval of the
objective itself.

OPPORTUNITY COST AND MONEY COST

THE OPPORTUNITY COST of any decision is the value of the next best
alternative that the decision forces the decision maker to forgo.

Since we live in a market economy where (almost) everything “has its
price” , students often wonder about the connection between the opportunity
cost of an item and its market price. What we just said seems to divorce the
two concepts. We stressed that the true cost of a car is not its market price but
the value of the other things (like refrigerators) that could have been made
instead. This opportunity cost is the true sacrifice that the economy must incur
to get a car. ' ’

But isn’t the opportunity cost of a car related to its money cost? The
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answer is that the two are usually closely tied because of the way a market
economy sets the prices of the steel and electricity that go into the
production of cars. Steel is valuable because it can be used to make other
goods. If those items are valued highly by censumers, the price of steel
will be high. But if the goods that steel can make have little value, the
price of steel will be low. Thus, if a car has a high opportunity cost, then
a well-functioning price system will assign high prices to the resources that
are needed to produce cars, and therefore a car will also have a high
money cost. In summary ;

If the market is functioning well, goods that have high opportunity costs
‘will tend to have high money costs, and goods whose opportunity costs are
low- will tend to have low money costs.

Yet it would be a mistake to treat opportunity costs and explicit monetary
costs as identical. For one thing, there are times when the market does not
function well and hence does not assign prices that accurately reflect
opportunity costs.

Moreover, some valuable items may not bear explicit price tags at all. We
contrasted® the opportunity cost of going to college with the explicit money
cost. We learned that one important item typically omitted from the money-cost
calculation is the market value of your time, that is, the wages you could be
earmning by working instead of attending college. Because you give up these
forgone wages in order to acquire an education, they are part of the
opportunity cost of your college education just as surely as are tuition
payments.

Other common examples are goods and services that are given away
“free”. You incur no explicit monetary cost to acquire such an item. But you
may have to pay implicitly by waiting in line. If so, you incur an opportunity

cost equal to the value of the next best use of your time.
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SCARCITY AND CHOICE FOR A SINGLE FIRM

The nature of opportunity cost is perhaps clearest in the case of a single
business firm that produces two outputs from a fixed supply of inputs. Given
current technology and the limited resources at its disposal, the more of one .
good the firm produces, the less of the other it will be able to produce. Unless
management carries out an explicit comparison of the available choices,
weighing the desirability of each against the others. It is unlikely that it will
make rational production decisions.

Consider the example of a farmer whose available supplies of land,
machinery, labor and fertilizer are -éapable of producing the various
combinations of soybeans and wheat listed in Table 1—1. Obviously, devoting
more land and other resources to the production of soybeans means that less
wheat will be produced. Table 1-—1 indicates, for example, that if only
soybeans are produced, the harvest will be 40, 000 bushels. But, if soybean
production is reduced to 30, 000 bushels, the farmer can also grow 38, 000
bushels of wheat. Thus, the opportunity cost of obtaining 38, 000 bushels of
wheat is 10, 000 fewer bushels of soybeans. Put another way, the opportunity
cost of 10, 000 more bushels of soybeans is 38, 000 bushels of wheat. The
other numbers in Table 1—1 have similar interpretations.

~ TABLE 1—1 PRODUCTION POSSIBILITIES OPEN TO A FARMER

Bushels of Soybeans Bushels of Wheat Label in Figure 1—1
40, 000 0 A
30, 000 38, 000 B
20, 000 52, 000 C
10, 000 60, 000 ‘ D
0 65, 000 E

Figure 1-—1 is a graphical representation of this same information. Point



